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Sally wants to put a fence around her rectangular garden. If the length

is 4 cm and the width is revresented by x.
4

(distance around a figure)

o

a) Write an TORMO ' in simplest terms.

DCEX+S

b)Find the perimeter of garden if x - 2.5

20.5)+%

2)
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a)Fi(;i the pgr'mete f the triangle in simplest terms

p)io)

b) If y - 4, what is th3per1meter7
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YOU Do

a) Write an expression for the perimeter of the square.

10X

+Hx
+ [0x

FHY 10x

b)If x - 6, Wh&3 éhe &3imeter?

[}
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a) Find the perimeter of each figure shown below.

b)Find the perimeters given that x-3.
7+ 3x
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a) Find the perimeter of each figure shown below.

b)Find the perimeters given that z-2, a-1, and b-5.

3ab + 4a*
+
4z+ 3 3a_b 3a_b
6b* — 5ab 3a-b

~ -. . . . .
o o Why is the triangle's perimeter not possible?
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Which is an example of Associative Property of Simplify: 1 (2x — 10)
addition? z

a) 4+9)+5=4+(9+5)
b) 7T+(N=0
©) 3+4=4+3

d)y 2+0=2

Write an expression equivalent to 4a + 4a + 4a

Homework

Simplify: 8(y + z)

‘Which of the following expression is equivalent to Write an equivalent expression for 3(x -4) -3

5(2m +3) + S5m?
a) 15m+3
b) 10m +3
c) 15(m +1)

d) 15m +5
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Hom rk

Simplify: 1.5x + 7.6y + 2.5x — 4.6y Simplify: -Tx + 3y + 5x

a) Find the perimeter of the triangle in simplest terms

4x Ix

5x
b) If x =7, what is the perimeter?
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